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Foil\rth Semester MBA Degree Examination, Dec.2017/Jan. 201‘/8 &

(\ o International Financial Management (\f\?)@
Pifiie: $%s. \,\,;j’\" \ 2 / a\x i/farks 100
St SECTION - A »\/
«Ngtg Answer any FOUR questions from Q.No.1 to\QI\\;o) 74
1 What do you mean”’fijDRV ¢ Q{ N (03 Marks)
2 What is Current A\Meﬂc/\\;n\{/generally composed of? (03 Marks)
3 Whatis SWIFT? N (03 Marks)
4 Explain Multilateral Nettin\g';\ A (03 Marks)
5 What is International Capitni'\gudgeting? :\ (03 Marks)
6 Define Translation Exposure. A Sy (03 Marks)
7 Suppose the exchange note betwee'r US’$ and ,FFr was 1 $ = FFr 5.9 and exchange note

between US $ British £ was 1£, $ A 50 Caﬂoufate the exchange note between FFr

and £. (03 Marks)
SECTION B

Note : Answer any F OUR Questtmis from O.No.1 to Q.No.7.
Differentiate between Spot and Forwargi _Marke{:x ' : (07 Marks)
Discuss the distinguishing features of Intemational*,Ffiﬁance. (07 Marks)
Write a note on the following : .
a. Global bond. 7 e
b. American depository recei’p‘t;f_\ .
c. Zero coupon bonds. (07 Marks)
Why did the Bretton Wpods agreement collapse? (07 Marks)

\/ \‘;

following data : <’f -
a. Uniliver of US mvcsts in India Rs 3,00,000 to modernize its Indian sub51d1ary
b. A tourists fxom’Egypt buys souvenirs worth Rs 3000 to carry with him. Z:Ie also pays hotel

and travelxbllls 6f Rs 5000 to Delhi tourist agency. o ~«--~-//
c. The Ind‘fan ss)bsrdlary of Unilever remits, as usual, Rs 5000 as d1v1dends o 1ts parent
company.i iy the USA. & f/

......

d. The lndlan subsrdlary of Unilever sells a part of its production in other Asian
R I 00//000

the Germany money market to resolve its urgent llqu1d1ty problem. \\, )
“~An Indian company buys a machine for Rs 1,00,000 from Japan are 60% payment is rnade
immediately ; the remaining amount is to be paid after 3 years.
g. An Indian subsidiary of a French Company borrows Rs 50,000 from the Indian public to
invest in the modernization program. (07 Marks)
I-of'3
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The US mﬂatlon rate is expected to average about 4% annually while Indlaﬁ ,mterest

rate is exppc ed to average about 12% annually. If the current spot rate fbr«Rupee is
AN

$0. 0285&"”@ 1s the expected spot rate in two years? (';\‘ /4;;; (07 Marks)
Convert the I{gﬂowmg rates into outright rates and calculate their spread\ /
Spot rate Rs/$4376300-25 N\
1 month forwar 2)5725 RAN
3 month forward” 2/’5}35 =
¢ S g (07 Marks)

6 month forward 30/40‘_‘,\:\

SECTION - C X \/
Note : Ans\wer aizv FOUR questions from QN):) 1 to Q.No.7.

Set out below is a table of cross rates

Deutsch,Mark | Dollar French«iﬁgesc Pound sterling
Frankfurt - 22800 04810 4.0205
New York 04400~ | . - -0.2100 2.800
Paris 2.0900 \4.8300 | - 8.3400
London 4.0100 “}1.8700.] " ~7.4200 -

Note that for Frankfurt, New York and Paris, all quotes are direct for London all quotes are
indirect. If all the above are available at the samé instant in time and assuming no transaction

costs, how might a trader take advantage ofithe situation.

Exchange rates : Can $ 0.665 per DM (spot) ;)
Can $ 0.670 per DM ( 3 month forward)

Interest rates: DM 7% p.a

Can $ 9% P, -

$ 10000 MYR = nglt/df Myanmar) 5
. “Quote Bid Rate éloRam
Valie of £ in US $ $ 1.600 $ 1.610°f
Nalué of MYR inUS$ | $0.200 $ 020 <\
4 ~‘\k'ajue of £inMYR | MYR 8.10 | MYR 8201
\ o
The followmg/mfm'matlon is available for the US and Europe :
/7 3 Particular US | Europe
& /,, Nominal Interest Rates 4% 6%
o Y | Expected Inflation 2% 5%
ﬁ_{j‘\\_‘_'”}\) Spot Rate - $1.13
Ao One year forward rate - $1.10

i) &)oéﬁ mterest rate parity hold‘7

ii1) Accordmg to IFE, what is the expected sport rate of the € in one year (10 Marks)

What are the methods used to invest internationally?
2 0f3

(10 Marks)
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What/are the various ‘exchange rate regimes’ according to IMF? ‘/zi‘l‘ﬂ/QMarks)
o D)
Compahy A éL B have been offered the following rates per annum on a $/20 million
five year: 1Qam
2 Company | Rate Floating Rate
B A 12.0% | (1 BOR + 0.1%)
b v B 13.4% | (1 BOR + 0.6%)

ap that will neat a

A requires a ﬂoaty/r’ate load and B requires fixed rate. De51gn/
ycompames Clearly

bank acting as mte;:fﬁ'Gdl\ary, 0.1% p.a and equally attractive to bo

explain the cash ﬂow ofxboth companies and the bank.

TN

SECTION -D

\,CASE STUDY — | Compulsq§>y }

(10 Marks)

New Haven a dealer basea in Burope, is owned by @, MNC Inc. of US. Given below is

New Haven Balance sheet at the current exchange rate; 0£$ 1.50/€

Valuemﬁ /Value @ $ 1.50/€
Assets ~
Cash 56000 75000
Accounts receivable 30000 45000
Inventory 20000 30000
Plant & Equipment 600000 900000
Total Assets Sa | 7 (’)0,000 10,50,000
Liabilities : /
Accounts payable 1::0000 225000
Short term Debt 90000
Long term Debt Networth "R 615000
Total liabilities & Networth | 7000007} ~ 10 50,000

<

i) Suppose the Euro deprcmates by 25%, identify the rmpact of a 25% depreciation of
the Euro on New Havens consolidated balance §h‘§ v
method.

ii) Calculate the Co
under each Acc

under each Accounting

pany 's exposed assets expressed llabllmﬁs /ayﬁd Net exposed assets
rrtmg translation method. (20 Marks)
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